

# Assignment III

Inwume Charles O.  
Computer Engg  
15/ENGO2/030

## Assignment

1)  $y = e^{x^2+x}$  : show that  $y'' = y'(2x+1) + 2y$

$$y'' = y'(2x+1) + 2y \quad \text{---}$$

$$y'' = \frac{d^2y}{dx^2} \quad y' = \frac{dy}{dx}$$

$$\therefore \frac{dy}{dx} = (2x+1)e^{x^2+x}$$

$$\frac{d^2y}{dx^2} = (2x+1)(2x+1)e^{x^2+x} + 2e^{x^2+x}$$

$$= (2x+1)^2 e^{x^2+x} + 2e^{x^2+x}$$

$$= (4x^2 + 4x + 1) e^{x^2+x}$$

$$= (4x^2 + 4x + 3) e^{x^2+x}$$

Sub RHS & LHS

$$(4x^2 + 4x + 3) e^{x^2+x} = (2x+1)e^{x^2+x} (2x+1) + 2(e^{x^2+x})$$

$$= (2x+1)^2 e^{x^2+x} + 2e^{x^2+x}$$

$$= (4x^2 + 4x + 1 + 2) e^{x^2+x}$$

$$= (4x^2 + 4x + 3) e^{x^2+x}$$

$$(4x^2 + 4x + 3) e^{x^2+x} = (4x^2 + 4x + 3) e^{x^2+x}$$

$$\therefore y'' = y'(2x+1) + 2y //$$

1i)  $y'' = y'(2x+1) + 2y$

$$y'' - y'(2x+1) - 2y = 0$$

let  $w = y''$

$$v = 1 \quad v' = 0$$

$$u = y'' \quad u^n = y^{n+2}$$

$$w^n = u^n v + n u^{n-1} v'$$

$$= y^{(n+2)} + 0$$

let  $w = -y'(2x+1)$

$$v = 2x+1 \quad v' = 2 \quad v'' = 0$$

$$u = -y \quad u^n = -y^{n+1}$$

$$w^n = u^n v + n u^{n-1} v' + n(n-1) u^{n-2} v'' \\ = -y^{n+1} (2x+1) + n(-y^{n+1}) (2) + 0 \\ = -y^{n+1} (2x+1) + 2(-y^n)$$

$$\text{let } w = -2y$$

$$v = -2 \quad v' = 0$$

$$u = -y \quad u^n = -y^n$$

$$w^n = u^n v + n u^{n-1} v' \\ = -y^n - 2 + 0$$

$$= -2y^n$$

$$\therefore y^n = y^{n+2} - y^{n+1} (2x+1) + 2n(-y^n) - 2y^2$$

$$y^{n+2} - y^{n+1} (2x+1) + 2n(-y^n) - 2y^2 = 0$$

$$y^{n+2} - y^{n+1} (2x+1) - 2y^n (n+1) = 0$$

$$y^{(n+2)} = y^{(n+1)} (2x+1) + 2y^n (n+1)$$

$$y = x^5 e^{4x} \quad \text{find } y^5$$

$$v = x^3 \quad v' = 3x^2 \quad v'' = 6x \quad v''' = 6 \quad v^{(4)} = 0$$

$$u = e^{4x} \quad u' = 4e^{4x} \quad u^2 = 16e^{8x} \quad u^3 = 64e^{12x} \quad u^4 = 256e^{16x} \quad u^5 = 1024e^{20x}$$

$$y^n = u^n v + n u^{n-1} v' + \frac{n(n-1)}{2!} u^{n-2} v'' + \frac{n(n-1)(n-2)}{3!} u^{n-3} v''' +$$

$$\frac{n(n-1)(n-2)(n-3)}{4!} u^{n-4} v^{(4)}$$

$$y^5 = 1024 e^{20x} (x^3) + 15 \cdot 256 e^{16x} (3x^2) + 60x (64 e^{12x}) + 60 (16 e^{8x})$$

$$y^5 = x^3 / 6 \cdot 24 e^{20x} + x^2 \cdot 3840 e^{16x} + x \cdot 3840 e^{12x} + 960 e^{8x}$$

$$y^5 = 64 e^{8x} (16x^3 + 60x^2 + 60x + 15)$$

$$x^2 \frac{dy}{dx} + x \frac{dy}{dx} + y = 0$$

$$x^2 y'' + 2xy' + y = 0$$

$$\text{let } w = x^2 y''$$

$$v = x^2 \quad v' = 2x \quad v'' = 2 \quad v''' = 0$$

$$u = y' \quad u^n = y^{n+2}$$

$$w^n = u^n v + n u^{n-1} v' + \frac{n(n-1)}{2!} u^{n-2} v'' + \frac{n(n-1)(n-2)}{3!} u^{n-3} v'''$$

$$= y^{n+2} (x^2) + n(y^{n+2}) (2x) + n(n-1) (y^{n+2-2}) (2)$$

$$-x^2 y^{n+2} + 2xn(y^{n+1}) + n(n-1)(y^n)$$

Let  $w = xy$

$$v = x, \quad v' = 1, \quad v'' = 0$$

$$u = y, \quad u^n = y^{n+1}$$

$$w^n = y^{n+1} (xc) + n(y^{n+1-1})(1) + 0$$

$$\rightarrow xy^{n+1} + ny^n$$

Let  $w = y$

$$v = 1, \quad v' = 0$$

$$u = y, \quad u^n = y^n$$

$$w^n = y^n$$

$$y^n = x^2 y^{(n+2)} + 2xcn(y^{n+1}) + n(n-1)(y^n) + xy^{n+1} + ny^n + y'$$

$$x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2 - n + n + 1)y^n = 0$$

$$x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2 + 1)y^{(n)} = 0 //$$